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Question: 1 
   
Which two tasks are covered by the IBM Spectrum Protect Plus blueprint? 
Response: 
 
A. filling out and using the Sizing Tool 
B. process to copy data to Spectrum Protect 
C. choosing appropriate technologies and hardware 
D. troubleshooting error codes that are encountered 
E. suggestions for Role-based access control settings 
 

Answer: A,C     
 

Question: 2 
   
What is a valid mode for restoring Oracle databases in an IBM Spectrum Protect Plus environment? 
Response: 
 
A. Test 
B. Integration 
C. Point in Time 
D. On Demand 
 

Answer: A     
 

Question: 3 
   
Which type of operation is suitable for rapidly restoring recent container backups? 
Response: 
 
A. Snapshot 
B. Namespace 
C. Copy Backup 
D. Application-consistent 
 

Answer: A     
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Question: 4 
   
On which hypervisor is IBM Spectrum Protect Plus supported as a virtual appliance? 
Response: 
 
A. Xen 
B. KVM 
C. VMware 
D. System Z 
 

Answer: C     
 

Question: 5 
   
Which statement is true about IBM Spectrum Protect Plus data copied to cloud storage? 
Response: 
 
A. The data is immediately tiered and deleted from the source vSnap. 
B. The data must also be copied to the local cloud disbursement cache. 
C. The data must be retrieved to the local cloud disbursement cache before it can be restored. 
D. The data is copied to the cloud provider but remains on the vSnap until it expires according to the SLA 
policy. 
 

Answer: D     
 

Question: 6 
   
Which user needs to exist in a VADP proxy in order to run the upgrade? 
Response: 
 
A. a local administrator 
B. a domain administrator 
C. a user that owns the VADP folders 
D. a user that can run commands without a password 
 

Answer: D     
 

Question: 7 
   
Which statement is true for configuring a vSnap server? 
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Response: 
 
A. The server uses the snapshell for configuration. 
B. Root is automatically enabled for interactive log on. 
C. Encryption can be enabled after the vSnap is initialized. 
D. The network information can be configured using the nmtui utility. 
 

Answer: D     
 

Question: 8 
   
What is the main purpose of the IBM Spectrum Protect Plus Service Tool? 
Response: 
 
A. to collect and consolidate the IBM Spectrum Protect Plus system logs 
B. to test host addresses and ports to determine if a connection can be made 
C. to display logs from devices that are connected to IBM Spectrum Protect Plus 
D. to audit the configuration of IBM Spectrum Protect Plus and compare it against the current support 
matrix information 
 

Answer: B     
 

Question: 9 
   
What must be performed after the vSnap Server update? 
Response: 
 
A. restart the clients 
B. reconfigure backup jobs 
C. release paused backup jobs 
D. renew the SLA policies and site information 
 

Answer: C     
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